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Nothing is difficult to the man who will try.
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By reading we enrich

the mind;
by conversation
we polish it.
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Listening to the world.
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1. How does the woman feel?
A. Tired. B. Hungry. C. Thristy.
2. How did the man come to the meeting?
A. By taxi. B. On foot. C. By bus.

. How did the man manage to escape from the fire?
B. The fireman helped him out. C.

. How does the woman feel about the movie?

A. His wife saved him.

A. Tt is excellent. B. It is not good.

. How old is the woman?

A. 30. B, 13.

. How much did Tom spend on the bike?

A. 348 yuan. B. 350 yuan.

. How long does the library open?

A. 6 hours. B. 8 hours.

. How much are the oranges a pound?

A. 16 cents. B. 60 cents.

. How long will the man stay at home?

A. A day. B. Three days.

10. How long will the man have to wait for the next train?

A. 5 minutes. B. 45 minutes.

C.

He himself escaped from the fire.

\

. It is very moving.

. We don’t know.

. 398 yuan.

.10 hours.

. 90 cents.

. A week.

50 minutes.
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. Where are the speakers now?

A. In the street. B. In the post office.

. Where does the conversation most probably take place?

A. In a shop. B. In a bookstore.

. Where does the conversation take place?

A. In an office. B. In a restaurant.

. Where are the speakers going for the summer holiday?

A. The Great Wall. B. The East Sea.

. Where are the speakers most probably?

A. In the library. B. In the dining room.

. Where does the coversation probably take place?

A.In a shop. B. In a restaurant.

. Where does the conversation most probably take place?

A. At a school gate. B. At a bus stop.

. Where is the woman?

A. In a soap factory. B. At her house.

C.

C.

In the forest.

In a post office.

. In a glass shop.

. Dalian.

. At home.

. In a vegetable market.

. At home.

. At an information desk.
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9. Where are the two speaker?

A. In a bookstore. B. In a restaurant. C. At the man’s home.
10. Where is Mr. Black now?
A. He is at the Friendship Hotel. B. He is in the office.

C. He is out for lunch.
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1. When will the train leave?

A. At 2:30. B. At 2.45. C. At 3:20.
2. When is the woman’s birthday?

A. May 24. B. May 25. C. May 29.
3. What time is it now?

A. 8:15. B. 8:30. C. 8:.50.
4. When does the train leave?

A. At 6:15. B. At 6:25. C. At 6:50.
5. When should the woman go to meet Professor Brown?

A. At 10:00. B. At 10:30. C. At 11:00.
6. When is the man checking in?

A. On Tuesday. B. On Thursday. C. On Friday.
7. When did the man’s father go to New York?

A. This summer. B. Last year. C. Last summer.

8. What time is it in fact?

A.1:40. B. 1:45. €. 1:50.
9. When does the shop close?
A. At 6:30. B. At 7:00. C. At 7:30.
10. When will the next bus leave for New York?
A. At 5:00. B. At 9:00. C. At 10:00.
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1. What does the woman not want with her tea?
A. Milk. B. Sugar. C. Salt.
2. What are the speakers talking about?

A. A trip abroad. B. A trip to the south of China. C. Some places of interest of China.
3. What is the relationship between the speakers?
A. Boss and assistant. B. Teacher and student.

C. Father and daughter.

4. What does the woman think of the city?
A.It’s pretty, but a little noisy. B.It’s noisy, but not so crowded.
C. It’s beautiful, but a little polluted.

5. Which season is it now?

A. Spring. B. Summer. C. Autumn.
6. What’s the price for one shirt?
A. 42, B. 45. C. 90.
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7. What’s wrong with the boy?
A. His leg hurts. B. He doesn’t feel like eating. C. He has a stomachache.
8. What will the woman have for supper?
A. Tomatoes. B. Beef. C. Fish.
9. What color is the lady’s.new bicycle?
A. Blue. B. Red. C. White.

10. What is the woman now?

A. A middle school student.  B. A primary school girl. C. A university teacher.
N7 ) = I TR - T RN ) -
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1. Why is the man late for school?
A. He slept overtime. B. A bicycle knocked him down.
C. There was something wrong with his bicycle.

2. Why does the woman dislike jazz?

A. It’s too noisy. B. It’s out of time. C. It’s too boring.
3. Why does the man sleep overtime?

A. The woman didn’t call him.

B. He liked to sleep in the morning.

C. He stayed up late to watch a match last night.
4. Why is the forest on fire?

A. There is a strong wind. B. Somebody smoked in it. C. Some children played fire in it.
5. Why did the woman buy a heavy coat for Jimmy?

A. Winter is coming soon.

B. Jimmy has caught a cold.

C. Jimmy will go into the mountains.
6. Who keeps the typewriter now?

A. Eric. B. Paula. C. Lizzy:
7. Who directed the wonderful comedy?

A. Steven Spielerg. B. Peter Jackson. C. Charlie Chaplin.
8. Who is going to the birthday party?

A. Mary. B. Jim. C. George.
9. Which team won the match?

A. The Korean team. B. The Chinese team. C.It’s a draw.
10. Which skirt does the man want to buy?

A. The red one. B. The green one. C. The brown one.
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1. What does Mary say she will do for Charlie?

A. She will find the books Charlie wants.

B. She will use Charlie’s card to borrow some books he wants.

C. She will use her own card to borrow some books for Charlie.
2. Where does the talk probably take place?

A.In a library. B. In a restaurant. C. In a hospital.
3. How much was a pack of cigarettes last year?

A. $2.00. B. $1. 80. C. $1.50.

4. How much does one chair cost if you buy two?

A. Thirty-five yuan. B. Forty yuan. C. Seventy yuan.
5. Where was the man this morning?

A. He was at the airport. B. He was at the railway station. C. He was in Guangzhou.
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6. Who are the two speakers?

A. Two students. B. A doctor and a patient. C. A teacher and a student.
7. What does the man call the woman for?

A. To hand in his roommate’s paper.

B. To ask for leave.

C. To ask her to see his sick roommate.
8. What does the man have to do in the afternoon?

A. Visit the woman. B. Meet the secretary. C. Have a meeting.
WRE 7 BERDR B 9 B 118
9. What was the name of the man?

A. Dick. B. Davy. C. David.
10. What kind of people didn’t they need?

A. Those who knew no foreign language.

B. Those who wanted to work 30 hours a week.

C. Those who had no experience in office work.
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11. Who will get a higher pay?
A. Those who are well educated.
B. Those who have much experience.
C. Those who can speak a second language.
B8 BLAE, &S 12 3 14 8,

12. What did the woman do a few days ago?
A. She had a bad tooth taken out.
B. She had her new tooth examined.
C. She had a false tooth filled in.

13. What caused the woman’s tooth hurt?
A. It didn’t fit quite right.
B. She didn’t take good care of it.

C. She didn’t use it properly while eating.
14. What time did the doctor ask the woman to get there?
A. After 11.00. B. Before 11:00. C. At 11:00 sharp.
WO O Behht, 255 15 = 17 .
15. What will the weather be like in most of North China?
A. Cold and wet. B. Cold and cloudy.
16. When and where will there be a strong north wind?

@)

. Sunny but cold.

A. In most of the Northeast his afternoon.
B. In most part of North China tonight.
C. In most of the Northwest tomorrow afternoon.
17. What will the temperature be in Beijing?
A. —2%C to 4°C. B. —3C to 3'C. C. —4C 10 2°C.
0 BrhtBl, BIZ& 5 18 % 20 .,
18. How many countries did Mr. Bell visit last summer?
A. Only one. B. Three.
19. Why did Mr. Bell feel very tired after returning home?

O

. Four.

A. He visited too many places in a hurry.

B. His holiday was not long enough for him to travel in Europe.

C. He was on the train or on a bus all day long during his holiday.
20. What will be a good idea to spend a two-week summer holiday?

A. Visiting only one city be the sea with a friend.

B. Visiting only a few cities near the sea with some friends.

C. Visiting some museums and famous palaces in different cities.
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An identity of one’s own

>

>

In the eternal universe every human being has a one-off chance to live—his existence is u-
nique and irretrievable, for the mold with which he was made, as Rousseau said, was broken by
God immediately afterwards.
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1. What did Peter do last week?

A. He didn’t do anything.

B. He went to Shanghai last week.

C. He went to Hangzhou on Friday.
2. How does the man feel about the class?

A. He does not understand it. B. He does not like it. C. He is used to it.
3. What did the woman mean?

A. The woman didn’t allow the man a two-day leave.

B. The woman allowed the man a two-day off.

C. She said yes to the man.
4. What does the woman mean?

A. She didn’like plays very much in the past.

B. She didn’ want to talk about it right away.

C. She wasn’t sure what the first part was about.
5. What is the man probably going to do?

A. He is going home.

B. He is going to give the woman a gift.

C. He is going to pick up the woman.
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6. What’s wrong with the man?

A. He’s got a fever and a stomachache.
B. He’s got a headache and a stomachache.
C. He’s got a cold.
7. What does the doctor suggest the man do?
A. Have a rest and don’t wear anything.
B. Take sick leave and don’t wear anything.
C. Take sick leave and don’t work too hard.
WSS 7 BobbR, A 8 E 10 L.
8. Where does this conversation probably take place?
A. On the street.

B. At an employment agency (B A28 Fr).
C. In the woman’ s house.

-

9. Why didn’t the woman find a job after her graduation?
A. Because she wanted to have a good rest.
B. Because she was in poor health at that time.
C. Because she had to look after her mother.
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10. What seems to be the result of the interview?

A. The woman will get a good job.

B. The woman will have to come again for a better chance.
C. The woman will start to work at once.

B8 Bubhkt, &% 11 X 14 .
11. What is the couple’s nationality?
A. British. B. French. C. Chinese.
12. What happened to the couple’s pet dog?
A. It was well fed in the kitchen.
B. It was killed in the kitchen.
C. It had a meal with the old couple.
13. How long did the couple have to wait before their food was ready?

A. About an hour. B. Half an hour. C. An hour and a half.
14. How does the woman feel about what the man said?
A, It is true. B. It is wrong to do so. C. It is unbelievable.

Ji4E 9 Brabdl, E& S 15 X 17 .

15. What did the man want to do?
A. To get on board the plane. B. To take a large thing on the plane.
C. To travel without a ticket.

16. Why did the man refuse to put the thing in the hold?
A. Because he was afraid it would be missing.
B. Because he was afraid it would be stolen.
C. Because he was afraid it would be broken.

17. What would probably happen at last?

A. The man got on board with his present.

B. The man had to put his present in the hold.

C. The man had to buy one more ticket.

W88 10 Brbb, 25 18 % 20 .
18. What or who made Dick turn back to London?
A. Some bells ringing in London. B. A rich merchant.

C. His only friend,a cat.

19. How did Dick get a lot of money first?
A. He sent goods to trade in Africa.
B. He sold his cat.
C. He found a job with a rich merchant.

20. Why did they say the bells of London had been right?
A. Because Dick became rich.
B. Because Dick was made Lord Mayor of London.
C. Because Dick traded a lot of goods.
E Fe IR B
E Fame, wealth and knowledge are merely worldly possessions that are within the reach of any-
a body striving for them. But your experience of and feelings about life are your own and not to be
E shared. No one can live your life over again after your death. A full awareness of this will point
A out to you that the most important thing in your existence is your distinctive individuality or
E something special of yours. What really counts is not your worldly success but your peculiar in-
E sight into the meaning of life and your commitment to it, which add luster to your personality.
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1. Where does the woman want very much to go?

A. The Neil. B. The Pyramids. C. Egypt.
2. What does the woman think of the restaurant prices here?

A. Fair. B. Cheap. | C. Expensive.
3. What is the relationship between the speakers?

A. They are strangers.

B. One is a teacher and the other is a student.

C. They are members of the family.
4. What are the two speakers talking about?

A. Tom. B. The photo. C. The card.

ol

. What will the woman do this evening?
A. Meet her Dad at the railway station.
B. Say good-bye to her Dad at the railway station.
C. Go to another city together with her Dad.
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6. How many people are there in the dialogue?
A2, B. 3. C. 4.

7. What are the man and the woman doing?

T e

A. They are going to take a plane to somewhere.

B. They are meeting Susan at the airport.

C. They are seeing Susan off.
8. Where is Susan?

A. She is in the plane. B. She is at the plane gate. C. She is getting on the plane.
SRS T BebTRE W 0 5 11 M.

9. How old is the girl?

A. Fifteen. B. Sixteen. C. Seventeen.
10. What does the girl think of the study of English?
A. Interesting. B. Easy. C. Hard.
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12,

13,

14.
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What did the girl enjoy most?

A. Listening. B. Writing. C. Talking.
ES BB, &SR 12 % 14 8,

How many brothers and sisters does Pancho have?

A, 11, B. 12. C..13.
What does his mother do?

A. She owns a beauty salon.

B. She runs a small family store.

C. She works at a bread shop.

Which thing does Pancho NOT say?

A. His brothers and sisters help his mom.

B. His mom sells food like eggs and sugar.

C. His mother enjoys her job very much.

SRR A5 55 15 3 17 1,

15.

16.

17.

19.

20.

18.

How much is the black wallet?

A. $49.95. B. $40. 95. C. $44.95.
Why doesn’t the girl like the brown wallet?

A. There isn’t a place to put pictures.

B. It’s too big and heavy.

C. She doesn’t like the color.

How much did the girl spend on the present for his father?

A. $5.00. B. $10.00. C. $13.99.
SR10 BiAt R, M5 18 2 20 M.

How long is the flight?

A. 2 hours and 40 minutes.  B. 2 hours and 14 minutes. C. 2 hours and 4 minutes.

What is the weather like in Seattle at present?

A. Partly cloudy. B. Rainy. C. Sunny.

At what gate will the plane arrive?

A. 13. B. 3. C. 30.
:”""""""””"’"""""""””"""”””"""""”""”"""””””””""‘u
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§ It is not easy to be what one really is. There is many a person in the world who can be identi-
E fied as anything—either his job,his status or his social role—that shows no trace about his indi-
E viduality. It does do him justice to say that he has no identity of his own,if he doesn’t know his

own mind and all his things are either arranged by others or done on others’ suggestions;if his
life,always occupied by external things,is completely void of an inner world. You won’t be able
to find anything whatever, from head to heart, that truly belongs to him. He is,indeed, no more
than a shadow cast by somebody else or a machine capable of doing business.
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1. How long will the man be away? '

A. 6 hours. B. 4 hours. C. 10 hours.
2. What does the man mean?

A. He would love to swim. B. He would love not to swim. C. He has to wait.
3. What does the man want to say?

A. The woman was home.

B. The woman had no time to answer the phone.

C. The woman was not home.
4. Where did the dialogue probably happen?

A. In the cinema. B. In the restaurant. C. In the shop.
5. What can we know about the man?

A. He is very excited. B. He is angry. C. He will be OK.
(I I5NE;BNE LS F,ES 22.55)
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6. What is the possible relatiohship between the man and woman?
A. Good friends.

B. Mother and son.

C. Teacher and student.
7. What did the boy often do at school?
A. He was often late for school.
B. He often fell asleep in class.
C. He often stayed after class.
8. Which of the following statements is true?
A. The boy prefers to go out and work.
B. The boy has neither interest in school nor in work.

C. The boy is discouraged because he hasn’t passed the exam.
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9. What job does the man want?

e S

A. Cook. B. Computer programmer.
© 10. Where does the man work?

A. In a restaurant. B. For a computer company.
11. Why does the man want a new job?

A. He’s bored. B. He quits his job.
RS AR ES 12 F 14
12. Why does the woman look worried?

A. Her son has lost his way.

B. Her son hasn ’t come back yet.

C. Her son has gone out at night.
13. Where has her son gone?

A. To school. B. For a ride.

14. What do you think has happened to the woman’s son?

A. He has got lost. B. He has fallen off his bicycle.

W9 BBOR I 15 % 17 4,
15. What will they put on a show for?

A. For money. B. For fun.
16. What can we conclude from the dialogue?

A. They want to put on three shows in all.

B. Three people will appear in the play.

C. They will sing three songs in the play.
17. What can we learn about the man?

A. He’ll sing and dance in the show.

B. He often gets up a stage.

C. He sings pop songs for money.

mﬁﬂlﬂ%% 18 & 20 .
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18. What were the eight people doing after the boat sank?

A. Saving the others. B. Swimming to the shore.
19. When did the robbers break into the bank?
A. In the afternoon. B. At midnight.

20. What was said about the man?

C. Cameraman.

C. At a school.

C. He wants more money.

C. To visit a friend.

C. We don’t know.

C. For others.

C. Helping the captain,

C. Early in the morning.

A. Tall and strong. B. Strong with long hair. C. Fat and well-built.
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:E All is not gold that glitters. K eI A LR L F. é
E All roads lead to Rome. 555 KB ES 5, E
E All time is no time when it is past. }s[l —E A KR . E
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:' All work and no play makes Jack a dull boy. A TYEARBLE, BRI ZS sa th 2848 ;
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1. What do we know about Mary?

A. She has traveled world-wide. B. She is going to Hawaii.

C. She likes postcards.
2. What do we know about the woman?

A. She does not agree with the man.

B. She thinks it better to wait.

C. She prefers going to wait.
3. Why does the woman think the man bought a new CD?

A. The man likes listening to music.

B. The man is listening to popular music.

C. The woman has never heard the song.
4. Where is the concert held?

A. In Birmingham. B. In Manchester. C. In London.
5. What is the relationship between the two speakers?

A. Mother and son. B. Sister and brother. C. Teacher and student.
FEoW(H IS5 ME;BNE LS @S 22.54)
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6. What was the woman speaker?

A. A college student. B. A middle school student. C. A housewife.
7. What kind of job would the woman like to do?
A. Housework. B. Office work. C. Work in the open air.

8. What job might the woman finally take?
A. Working for a road-building company. B. Cutting grass.
C. Typing letters in the office.

B b, IS 9 11 .

9. Where is Tom now?

A. In the school. B. In a restaurant. C. At the cinema.



